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(i1i)

39 Y97-97 4 34 397 & | @4t yo7 rfAard & |

I8 Y97-97 1 @vel H 9o & :

&g & - GHIC I

GUS & - YRAT 371 fahra

FG Jo7-97 H 20 TgaeH1T THR & Fo7 & | I Jo71 7% F1 8 |

(iv) 39 J97-Y7 4 4 TY-ITIT FHR-1 & J97 8 | J9% J97 8 371 #1 8 | 57 Fo491 &
T 60 & 80 gl 7 ford i3 FiEy |
(v) 39 YI7-97 7 6 TH-FRIT YHR-II & J97 & | I3 Jo7 4 3H 7 8 | 57 J971 &
T80 & 100 gl F ford i3 Fiiew |
(vi) 3T Fo7-U7 4 4 FH-F707 JHR & F97 & | IIP o7 6 37H] 7T & | 37 T & IN
100 @ 150 37551 4 o7 i =niew |
(vii) YeIF J37 F U 9777 & I TH GIg ford S FiiEe |
(viti) FHS AR, €I & [ ZIeaifea gl & 1670 Biel aor qH=H 37717 STeka
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Tufte srefome
1.  Tohg N(&T 3@ (CRR) % TeY H, 377cy &M sl TgaH hIT : 1
(A) I8 HIT J HEY THT AT i Ueh [Hived gfawa 8, 8 g 9% &t
Hd1g ek % ITE Tohe VSR (3TN &9 § W1 g1 @ |
(B) I8 ¥ b grT YR fopam S 2 |
(C) IE TSI Sehl T ST Al 81 BiaT 8 |
(D) 98 g o g Adewd 4 gr@ i @1 ka6 ¥ 3w
3YHOT BT B |
2.  ggai-u foh Frfaiflgd ® & H YRd % YTaE Gged o Ui @rd & sfae 9e7 |
I ST | 1
(A) TS W Tsh WA g v emafs
(B) faew o uitgmafa o wyrd=t gra faw
(C) wwmmwwmﬁﬁ(shares)WW
(D) WA ¥ 99Tl o1 Hia
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General Instructions :
Read the following instructions carefully and follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :
Section A — Macro Economics
Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics
1. Identify the incorrect statement with reference to Cash Reserve Ratio
(CRR) : 1

(A) It is a certain percentage of demand and time deposit liabilities
that every bank must keep as cash reserves with the Central

Bank.
(B) It is fixed by the Central Bank.
(C) It is not binding on the commercial banks.

(D) It is a tool used by the Central Bank to control the credit creation
in the economy.

2. Identify which of the following will appear on the debit side in the
Capital Account of India’s Balance of Payments. 1

(A) An Indian sending remittances from England

(B) Investing in assets abroad by Indians

(C) An American company purchasing shares of an Indian company
(D)  Export of spices from India
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3. TfaRad el o1 sHYEs A=A HI - 1
FY7 1 : TRl Tsg 1 A(H & I TSIk €= T & 3Md & |
HY72 : WRA H IR e, WA % Tk & 1 fgew 7 |
feu U St & Itedres 1, fr=feifaa @ 8 @&l fasew &1 w=w Fifve
(A) HIT 1T g 3N HIT 2 370 7 |
(B) HIT 13T 2 M FAT 2T 2 |
(C) YT 13M 2T T2 |
(D) A 13 2THI M 7 |

4. g for fafafea § 9 sH-ar for faffme o yore =1 we @ 787 2 1
(A) o @ ¥ fera ghfead e
(B) Togsh gg1 & 31eq A1 AT TeATR T AT

(€) Tacsht gg1 99 ® Agamsi W U T
(D) EHfSE-ARET Hifat 1 TH=a" gladrsHeh gl ST 8

5. Tefciiad el w1 camyes st $HiT 1
FYT 1 : IUFT B YT F F9d o S oY HT GUH HidT g |
FYT2 ; UM B b <l U BId & — T 3UHTT I YRA IT9T |
feu U oAt & It 1, f=feifad # ° @& fasew &1 w=w Fifve
(A) YT 19T g 3TN HH 2 310 7 |
(B) U 130T 2 MM FAT 2T 2 |
(C) T 13 2T T 7 |
(D) YA 13 2 gHI 3 7 |

6. UM SfGY for T Hicdfer 3refegaeen U, T U = T 500 HUS qAT

AT 3T gRd =087 | Al STfFeR S U SR e @A
(T=h o™ A & fou o foshew &1 =@ difse) 1
(A) 500+ 0-8Y (B) (=) 500 + 0-:8Y
(C) 500+ 0-2Y (D) (=) 500 + 0-2Y
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3. Read the following statements carefully : 1

Statement 1: Economic territory and political frontier of a nation are
one and the same thing.

Statement 2 : American Embassy in India is a part of the economic
territory of India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B) Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D) Both statements 1 and 2 are false.

4, Identify which of the following is not one of the merits of fixed exchange
rate system. 1

(A)  Ensures stability in exchange rate

(B)  Possibility of under or over valuation of foreign currency
(C)  Prevents speculations in foreign exchange market

(D)  Coordination of macroeconomic policies becomes convenient

5. Read the following statements carefully : 1

Statement 1 : A consumption function describes the relationship
between consumption and savings.

Statement 2 : Consumption function consists of two components —
autonomous consumption and induced consumption.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
6. Suppose in an imaginary economy, autonomous consumption = ¥ 500 crore

and marginal propensity to consume = 0-8. The saving function for the
economy would be

(Choose the correct alternative to fill in the blank) 1

(A) 500 + 0-8Y (B) (=) 500 + 0-8Y
(C) 500+ 0-2Y (D) (=) 500 + 0-2Y
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7. TmfaRgd f =1 eaFgds st=em Fife qon i wom & qfd 6 o &=
fe

&eq T =TI HINT 1
LCIG1
|
|
916 @rdl gSf @
|

aegai d | | A

R e UGIES
IEETR :
A) frawm (B) TSN ol SATIR
(C) =gl =uw (D) «Ted gl

8. Tmafafaa oAl w1 ufeq : 1fiered (A) 3R *Rw (R) | = feu 7u foepeqi ®
T Tgl fashed gfu - 1

UFYT (A) : AW H AgeH T d9 Hgid gar g, 99 YA =59 9
TR 3cdTe Toh-GER o SR M & |

HRU(R) : AT 1 T &R, A6 & q01 YIHTR &R o TG AT FHIH
B TRl B |
IEETR I
(A) ITYHI (A) 3 SR (R) HI T & JN SR (R), AR (A) hI
gl SIS hdl 2 |

(B) AR (A) IR ST (R) Al TcT 8, Afhd RO (R), AMHAT (A)
1 TE AT T AT R |

(C) 3R (A) T B, Wihd RO (R) I8 3 |

(D) 3R (A) T 7, Afehd I (R) T 3 |
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7. Study the following figure carefully and choose the correct alternative to
fill in the blank : 1
Balance of
Payments
Account
|
| |
Current Capital
Account Account

|

Trade in Transfer
merchandise Payments
Alternatives :
(A) Investments (B) Trade of Services
(C) External Borrowings (D) External Assistance

8. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below : 1

Assertion (A) : The equilibrium level of income is determined, when
ex-ante spending and ex-ante output are equal.

Reason (R): The equilibrium level of income may or may not be the
same as the full employment level of output.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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9. Trafaflga seAt @1 srerm HifvT : sifipem (A) 3R s (R) | = fow o
foredi o @ Tt famhed gfw - 1
STYHYT (A) ; HHE S=d TG (MPS) I Uehad oI IS 8 Thdl & |
FRU(R) : 3 o THER W, g9d I 8l & |
[CEISIE

(A) IANHAT (A) 3T HRU (R) A1 TF & W R0 (R), AIHAT (A) HI
g SIS hidl 2 |

(B) 3T (A) 3T RO (R) THI T &, AAfhd RO (R), MHHAT (A)
1 T T 7T AT R |

(C) 3P (A) T B, Wihd hRUT (R) JIEH 7 |
(D) AR (A) 3T 8, Afehd R (R) T 7 |

10. TAfcIRaa oMl 1 SAHYdsh TR HINT 1
Fo7 1 : gl 98 a%] 7, o wreneran faf g o areem o €9 0 Tier fh
Ik

FYT2 : gl 7 STTTIhATSAT oh gral TN hl THEAT i §A ThAT o |

feu U seET % A H, Hfaiad # 8 wEl ooy w1 =H hifve
(A)  HIT 19T 8 AN FHIYT 2 30T 7 |

(B) YT 13T 8 AN FIT 2T 2 |

(C) YT 13N 2THI TcF 7 |

(D) YT 1R 2 gH 3EH B |

11. (%) “TaW 9ged @d § fERdr sFT W@ & T aurisHsRI oiFed foht ST

%l”
J9 TSR o A1 fu 7T Fed hi gfse HINT | 3
Jrora
(@) “Hg1 1 geagrE fopet Tsg o i ol Wicarted ot dehal g 17
T qehi o @19 QU MU oM o1 Tmel a1 weq il | 3
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9. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below : 1
Assertion (A) : The maximum value of Marginal Propensity to Save
(MPS) can be unity.
Reason (R): At the break-even level of income, savings are zero.
Alternatives :
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
10. Read the following statements carefully : 1
Statement 1: Money is a commodity which is generally accepted as a
medium of exchange.
Statement 2 : Money solved the problem of double coincidence of wants.
In the light of the given statements, choose the correct alternative from
the following :
(A) Statement 1 is true and statement 2 is false.
(B) Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D)  Both statements 1 and 2 are false.
11. (a) “Accommodating transactions are undertaken to maintain stability
in the Balance of Payments Account.”
Justify the given statement with valid explanation. 3
OR
(b)  “Depreciation of currency may promote exports of a nation.”
Defend or refute the given statement with valid arguments. 3
12-58/2/2 P.T.O.
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19 R Y SRSl % AT W, HE S W TS 391G (GNPpp)
Hed I e hiT : 3
: T
i (T #g 7)

(i) Gl o o 2,000

#.9.

(ii) EXRIERSIS 800

(iii) o = 500
(iv) Sfeata a9 300

v) AT 200

(vi) LR 150
(vii) focett @ yea g wEA ™ (-) 50

I e oh TehR o SfohTT TiFe o SE o1 Hgwaqul s ol & |
e fitd deh gra fobw e 3w il st ==t ShifST | 4

Teh hlcUeh AT & 7T, I8 AF w5 TR T 20,000 S
TS gfamTa fas waft | sreferewen # fdfth 3T &1 80% 3T BT & |
AT H I H g qAT IWeh AIEY UMM I H glg N IAehad
T | 4

(%) “afe qof U9 =@ R, 3ifaw a&qen S arafas @i ifem gt &
ek 3cATe | A &I, 1 399 "Tagd! (Inventory) 1 3TUTEd =™
B ERAT R |

T 379 2T 0 %99 9 980d 8 ? 3794 I & g9 § A1 R e | 4
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12. On the basis of the data given below, estimate the value of Gross

National Product at Factor Cost (GNPR() : 3
S.No. Items Amount
(< in crore)
i) Wages and Salaries 2,000
(ii) Rent and Interest 800
(iii) Corporate Tax 500
(iv) Undistributed Profit 300
(v) Dividend 200
(vi) Depreciation 150
(vii) Net factor income from abroad (=) 50
13. Reserve Bank of India undertakes the important function of managing
the government’s banking transactions.
Discuss the above stated function performed by the Reserve Bank of
India. 4
14. For a hypothetical economy, assume the government increased an
infrastructural investment by ¥ 20,000 crore. 80% of additional income is
consumed in the economy. Estimate the increase in income and the
corresponding increase in consumption expenditure in the economy. 4
15. (a) “If actual demand for final goods falls short of the actual output of
final goods corresponding to full employment level, it may lead to
an unintended accumulation of inventories.”
Do you agree with the given statement ? Give valid reasons in
support of your answer. 4
OR
12-58/2/2 Page 11 P.T.O.
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(@) fm=faRea arferst @t qU AT | 3 % T 200 S H TR T 3990
%o 1 i i | 4
377 (Y) T (S) 31Ga 39917 Fgfa | &HIT a9d g
(THed)| (FHeT) (APC) (MPS)
0 (=) 50 - -
100 | e, 1| e,
200 | e 3/4 |
300 | e 213 | e
16. (&) ()  TICEW ToI& B T ATH HL & ALY Il T HIT | 3
(i) TN S & GETEHl & YA:3M6e Ie3T shi AT I | 3
T
@) () 9W ANu F & weufe Adererar & fou ffafaa sties
q&d feRu MU % 1
7 il (7 ;Z?@' )
(1) Ex@snie 1,200
(ii) TSTEd = 3,700
(iii) TR ITeEr 2,000
(iv) U1 <hl ] 145
(v) ISTd = 500
(vi) EIEEN 120
(vii) TS T YA 1,070
TSd 91¢ 9 TSI =1¢ hl TTUET il |
(i)  HresTeh YU qAT BT 3cdTed H 3Tt Tase hiforu | 2
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16. (a)
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Complete the following table. Construct the consumption function

at T 200 crore level of income.

Income (Y) | Savings (S) | Average Propensity Marginal
(in <crore) | (in T crore) | to Consume (APC) | Propensity to Save
(MPS)
0 (=) 50 — —
100 | e, 1
200 | el 34 |
300 | .l 213 |
(i) Distinguish between direct tax and indirect tax with the
help of examples. 3
(ii) Explain the ‘reallocation of resources’ objective of
Government Budget. 3
OR
(1) Suppose the following data is presented for an imaginary
economy : 4
S.No. Items Amount
(in < Crore)
(1) Tax Receipts 1,200
(i1) Revenue Expenditure 3,700
(ii1) Non-Tax Receipts 2,000
(iv) Recovery of Loans 145
(v) Capital Expenditure 500
(vi) Disinvestment 120
(vii) Interest Payments 1,070

Calculate Revenue Deficit and Fiscal Deficit.

(i1)  Differentiate between public provision and public
production. 2

Page 13
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17. T=faRed w1 eHgEes s1eRE i

3cUTed Ufsham H 3IcTed & ol g fau mu Ty fequmest =t
IIAH €Y Y JHIIT L Hohd @ | 30 TR & JHE g IR A AT 8l &
Tg TSI 3R T 3Tehai ohid T9Y S0 & H a1 W@ Il g | AdwmEd 3=
ST had & qT ¥ STedd HehRiIcHesh AT ThIcHe 8 Tohdl & |

3 9eY H, s Irfumed uriifeufae dqed gHfTed s % Tl e
eI I T AE@YUl ITRLY oh €9 H ITAN i &1 GAd <d & |

T ToI-HER0 A1 q1 I T Yooh TR AT HH Icdsi W FleHe]
<t WHEIRY T IcdsH ol It i <l Iy &iar 8 | e o, I 99,
Feh! o9, ATC ST TIEAT o H1eaH § AN §6 TR hl TohicHeh STeIaiat
I AT A Tell FHA qehieh hl 3TN ST EH 1 I <d 8 |

feu U TRy qen g wHE & ouR W, =ffad yee o 3w G

(i)  Sreraret i aivriia $ifse | 1
(i)  HhIIcHS o dhIIcHh STRIAIST o HET A T HifNT | 2
(i) ToFIR & SaEy 6 wea qea-Fgier o FH 9 = diedrtga e S
LT | 3
ECUERC
R i faemme
18. Tl T UH gUIedt §, S dTifedfae dqed ol gAeRiiiud &,

SFTC W@ 9 g i § T8 il ¢ |
(Th T WA & ot Tt fashew &1 =99 difsw) 1

(A) dRURH (B) Sfae
(C) THEM® (D) W& (Multi-layered)

12-58/2/2 Page 14
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Read the following text carefully :

Decisions taken by factors of production in the production process
often may affect the stakeholders indirectly. Such impacts at times are
huge but are not accounted for, while estimating national income.
Economists call them as externalities and they can be positive or

negative.

In this regard, many economists suggest carbon pricing as an

important tool to ensure ecological balance.

Carbon pricing tries to control greenhouse gas emissions by either
placing a fee on emitting or offering subsidies on lesser emission.
Through instruments like carbon tax, green cess, eco tax, etc. economists
suggest moving towards greener technology eliminating such negative

externalities.

On the basis of the given text and common understanding, answer the

following questions :

(1) Define externalities. 1

(ii))  Differentiate between positive and negative externalities. 2

(iii) Elaborate how and why carbon pricing should be promoted. 3
SECTION B

Indian Economic Development

farming is a system that is helpful in restoring,

maintaining and enhancing the ecological balance.

(Choose the correct alternative to fill in the blank) 1
(A) Conventional (B) Organic
(C)  Chemical (D) Multi-layered

12-58/2/2 Page 15 P.T.O.
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=H ¥ JaHH g SAEfes ok i 91E 1978 H AN fhu MU ITieleh guwi |

19.
@ISt ST Hehell &, STal |
(Teh o wa & fore gt fasped 1 =am Fifse)
()  IRY H Sy, faeeft =mr 3 fEw &= ° gun 3 fee mu 9
(i)  qret gea-famer 6t Aifd oTors T8 off
(i) TR 7 fomiy snfers &= 1 Hifq i © g o
IEETS
(A Had (i) (B) had (i)
(C©) () AR (i) D) (@), (i) 3N (i)
20. fofew smem & A, wia & fogeht =R @ Sl DIGHL s faRITATT
off |
(feh T A & forw @t faspew o1 =9 Fife)
(A) I& 3T, AR 9 Y3eeh ol Sfdeereas ifa
(B) WA & fid 9 3mma W fsifest werrieen
(C) ¥Rd ¥ 3 fovg & fIQ gk =R
(D) w1 Ffa fee
21.  IMYhRIR T TEaqul e fee 3ewa &, s T higd B |
(feh T 9 & ot Tt foehew o1 =39 i)
(i) 7 SEnfEh S TIEe
(i) ™ g FUR < U faawo
(iii) TR ST H FhNICHS THad M
ey :
A FHad () (B) (1) AR (i)
(©) () AR (i) D) (@), (i) 3R (i)
12-58/2/2
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The present day rapid industrial growth in China can be traced back to
the economic reforms introduced in 1978, where

(Choose the correct alternative to fill in the blank)

(1) initially reforms were initiated in agriculture, foreign trade and
investment sectors

(ii)  the policy of dual pricing was adopted

(iii) the Government revoked the policy of Special Economic Zones

Alternatives :
(A) Only (1) (B)  Only (i)
(C) (1) and (i1) (D) @), (i1) and (iii)

During the British rule, India’s foreign trade had various features except

(Choose the correct alternative to fill in the blank)
(A)  Restrictive policies of commodity production, trade and tariff
(B)  British monopoly over India’s exports and imports
(C)  Free trade from India to the rest of the world

(D) Large export surplus

Modernization is an important economic planning objective that focuses

on

(Choose the correct alternative to fill in the blank)
(1) Adoption of innovative technology
(ii))  Equal distribution of income and wealth

(iii)  Bringing positive changes in the social outlook

Alternatives :
(A)  Only (1) (B) () and (i1)
(C) (1) and (ii1) (D) (1), (1) and (i11)



22,

23.

24.

g

% IO AH AT e SHEEA gig & H FAGE wE H gew

BT A1 |
(Teh T WA & fore gt fashew &1 =am Fifse) 1

(A) 3% gar
(B) Uhd farg Hifa
(C) W8 A8 ATEhideh Shild
(D) TomIv arfeiep &=
HHa Ysit o < |l i 989 HIfT g ik T0H W & e 98t fashed
=R I | 1
foeped -

(A) T W Y 9 e w3

(B) dohdish W T 9 M W

(C) JdEd QT oI d I I I

(D) TATEY QU gy 9 Jd1dd 9T oYY

3T YU Sl AN L o I, TTREA o SR | foepd |
T 1 Ty foh B |

(feh T W & fore Tt faseq &1 == difse) 1
(i) Y & 1 AR YA
i) foesn @ fodmor W erefess ffta
(iii)  TSHIfaeh STFEeRaT

ICET R

(A) ()3 (i) (B) (i) 3 (iii)

C) (), (Gi) 3 (iii) (D) (i) 3 (i)
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China was able to control its rapid population growth rate owing
to

(Choose the correct alternative to fill in the blank) 1
(A) Economic reforms
(B)  One-Child Policy
(C)  Great Proletarian Cultural Revolution
(D)  Special Economic Zones

Identify the sources of Human Capital Formation and choose the correct
alternative to fill in the blanks. 1

Expenditure
on Education

Expenditure
on
Information

on On-the-
job Training

Alternatives :

(A) Expenditure on Health and Expenditure on Schools

(B)  Expenditure on Technology and Expenditure on Knowledge
(C)  Expenditure on Migration and Expenditure on Knowledge
(D)  Expenditure on Health and Expenditure on Migration

After the implementation of economic reforms, Pakistan experienced
slowdown of growth due to various reasons including

(Choose the correct alternative to fill in the blank) 1
(1) Volatile performance of the agriculture sector

(ii)  Over-dependence on remittances from abroad
(iii)  Political instability

Alternatives :
(A) (1) and (ii) (B) (i) and (1i1)
(C) (1), (11) and (i1i) (D) (1) and (ii1)
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25. TfaRad el 1 SIHYE® A HIT - 1
FYT 1 ; R, IhEd™ o = bl Hifdeh @rame quaaredi § dl il THHEATS
7, Weg Ieh! Terifaeh seawad faegpa fia § |
FYT2 : YA 9 UIhEdH A1 3 Teh &1 WSh 8 foerfa o | Afus o«
feam o |
feu U seET % A H, faiad # 8 wEl ooy w1 =e hifve
(A) T 19T 2 AN HIA 23T 8 |
(B) U7 13T 8 M FAT 2T B |
(C) YT 13M 2T T2 |
(D) YT 13 2 THI FEH B |
26. fAfafEga oAt = afeu : AfFT (A) 3R SR (R) | = fow v faskedt &
o Tgt fashed ﬂﬁﬁ : 1
STYFHYT (A) : T o (A1 H, I HTaw UGN Hgfg Sl THE h
T L &R
FRU(R) :  USTTREH ddfg § acd 7, T UHl foufd S8l w srefeawen
arfafes U 3cum fopr fomm oiferss ageti SR Tameti o
IcqTed i | HYH B |
ey
(A) AR (A) R HROT (R) AT T § I HRUT (R), 311WheH (A) i
T AT LTl B |
(B) 3T (A) 3T RO (R) THI T &, Afhd HRUT (R), MHHAT (A)
&1 &l AT FgT w1 g |
(C) 3R (A) T B, Wik RO (R) I8 3 |
(D) AR (A) 3T 8, Afehd R (R) T 7 |
27. WiaH 1 ¥ U U 4fiehi o TR & Shicw 11 § U U % & Topfd i T@
UEEH SHIfNTT 1
Hicig I Hiciq 11
1. | €5 1 gM &I AT () | Fafya aqaarh
9. | fmfor w9 (i) | TmeRfere fegrel awgh
3. | fafaer 1fian (engineer) (iii) | =-Fnfora
IEETR B
(A)  1-(G1); 2—(11); 3—(ii1) B)  1-3i); 2—(1); 3—(iii)
(C) 1-(111); 2—(11); 3—(1) (D)  1-(i1); 2—1); 3—(1)
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Read the following statements carefully :

Statement 1: India, Pakistan and China have similar physical
endowments, but totally different political systems.

Statement 2 : Both India and Pakistan laid great emphasis on creating
a large private sector.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : In the recent past, Indian economy has been facing the
problem of jobless growth.

Reason (R):  Jobless growth refers to a situation where an economy is
able to produce more goods and services without
generating additional employment.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

From the type of workers given in Column I, identify the correct nature of
work in Column II :

Column 1 Column I1
1. Cement shop owner (1) Regular salaried
2. Construction worker | (ii) | Casual wage workers
3. Civil engineer (iii) | Self-employed
Alternatives :
(A)  1-(1); 2—(1); 3—(ii) B)  1-(Gii); 2—(1); 3—(iii)
(C)  1-@ib); 2—(11); 3—(1) (D) 1-(ii); 2—(1); 3—(ii)
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28. (%) “TAH, YT THR 7 SH-g9 A1 hi eTa ht off |7
feu U oM & TS H, 3T ASHT & I hl AT H == kI |

AAAT

(@) “and wR 4, HN fquom yomeht @i o & § Sedt Sedted
Tfafafern o a1y Tad s & fIT s heq IJTWE |17
F7 Y 2T 7T heF W HEgHd & ? A9 I o U H hig o 9 hR

&R |

29, feu mu o i sare hifse qen 38 uiffeafas e s94 @ U o foru fone
T WA 6 s KIS |

W:WWWW%WWM%WWW%%WWW?/
I Tt o 389 k! ITH i o 7T foral @ WHTaRIT /1 oo <hifau |
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28. (a) “Recently, the Government of India launched Jan-Dhan Yojana.”

In the light of the given statement, discuss briefly the objectives of

this scheme. 3

OR

(b)  “The Government of India has taken various measures to align the
agricultural marketing system with the growing production
activities in the rural areas.”

Do you agree with the given statement ? Give any two valid

reasons in support of your answer. 3

29. Interpret the given picture and explain any one strategy to control it from

becoming an ecological disaster. 3

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 29.

State any two strategies to achieve the objective of sustainable

development. 3

12-58/2/2 Page 23 P.T.O.
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30. i fou U el & AMUR W, YRG d IH T 3T 9 U o &R
wﬁaﬁ-—ﬁaﬁwﬁm 4
2018 - 2019 ¥ TR R Hehet T ATEA (%) o &F IR

o T o qrda 4 Fer HIIETT HT TaaoT
YRd =/a] 7B YRd =/C] qTfBET
SN 16 7 24 43 26 41
30 | 41 19 25 28 24
qard 54 52 57 32 46 35
HA 100 | 100 100 100 | 100 100

Hid: T4 [a%1E kT2 2019 : TRET 37K I1afee & 39& d@as, 2019

31. (%) Tofest omed & GRE 9™ N &F I Tdeq s9M it fhegl a1 Tl

< ==t HIfST | 4
AHYAT
(@) 1991 % o7 W % TNH THR g IRY fhu MU T =aeen
JUR & Gefera fohegi g IgRIeAT TR W =t iy | 4
32. WME St HHI | gH aret fohegl g ATHI i == it | 4
33. (%) 1) “Afrar v feht w1 0 ot = & €9 0 wRiE 8, T8 98
giireh T 8 17
FIT 98 ST/ & § HRId 8 ? 37 3 o a9 o
Y SR LT | 2
(i) YA H SO & 3Tl & fohegl Q@ Gidl ol Ieoig hIfST | 1
(iii) YRd 4 Afger e =1 Tcanfgd o 6l 3Magdehdr 6l faear 3
ST T | 3
HYAT

@) ) ol as B qeE , amhor a i s R e
et <t 3tfres gt g 17

fou T wem 6t gfee hifsr | 3
(i) =9 SUSITR =l gRTiyd shifoe | o) o1 § 3cqmed 9 USTIR W
THoh JHTE] ol 3ol hifoy | 3
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30. On the basis of the data given below, discuss the shift in output and

employment

sector-wise, in India and China :

Sectoral share of Employment and GVA (%) in 2018 - 2019

Sector Contribution to GVA Distribution of Workforce
India | China | Pakistan | India | China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100

Source : Human Development Report 2019 : Key Indicators of Asia and

Pacific, 2019

31. (a) Discuss any two factors that lead to stagnating Indian agriculture

sector

during British rule.
OR

(b)  Discuss any two liberalization measures pertaining to the tax

reforms, introduced by the government, during the economic

reform process of 1991.

32. Discuss any two benefits accruing from human capital formation.

33. (a @

(i1)

(iii)

o @

(i1)

12-58/2/2

“Amita is a regular worker in a private firm that employs
twelve hired workers.”

Is she working in the formal/informal sector ? Give valid
reasons in support of your answer.

State any two sources of data on unemployment in India.
Elaborate the need to promote women’s education in India.

OR

“The participation rate of people in economic activities in
rural areas is more than that in urban areas.”

Justify the given statement.

Define disguised unemployment. State its implications on
output and employment in a country.

N

3
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xﬂ%l]
frfcTRed & &1 S TErE hHINT -
TAAAAT 3T WA hi s Hifd 1 geda: 1948 @ fifies ifd wehed &
ey # 3R T T o | 3o U fEa O 3En % fasra o WieEred o,
FERAl S 9 [0 ot o AW H TR i U el W s fgan m=n
o | 394 A9 & % folu s Afsha @ yq@ fieht i aftehedar 61 T8 off |

AT fEnfes Hifd Wehed, 30 3T, 1956 H YU Al g TES o THET WAl
T AT | 39 Hehed 3 g fan o TR, “Undla IevE w9 srdfedawn &
ATSETE] &d ol I o |- JioHTeg o i faehr 6l Aeaw=esdr 2 |
$G%h 0T g 39w g foh YIS 9 i Tgw o Gyt I T9ar drasti-eh
START FATY A & o AL g MR |

I I N AfG-ATEaTh g a1 FH §g TqH W FHawr hi 3Tawaehdl a8l 8
(STt et TSI & 9gH T Tohal 8), 38 I Ardstfeh & o I g1 =R |
THfIU UST &1 I & Wit foepre o fou youer Iaeerfica ugor sven grm |7

g Fehed TN I 14 AR | affehd o &
o IITA A H @ TE ugell AN H UH IUW Wt &, Sem wiosy # fom
s 1 foo e gt |

o TE{ AU H, YT B H 9 &M QU MU B ST ITR TS o iHea Il
B | graifes, 399 3 3gm @ oft wifierd) <6 3efie <k st |

o i Avft § 3w Tyl = W wnfhe TR B, SR 3 o foeem s
& <l gt 9 3| W feft g |

few U T Qe W= we % YR W, Fefaad 9o o 3w e

() “9Nd WeR 4, A faem & Uiy awi # sfenfies foww o
TSt & o foTT St yfiept W & fezm o |7

3 I o U H HRU od §Y, T HI hl Ifed HWT |

(i)  Sfrenfies ifd Hehed, 1956 & ITAR Tafvra A= o I o Fffentor
h! FIET TEqd I HR == HINT |
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Read the following text carefully :

India’s industrial policy since independence has been shaped broadly in
terms of the Industrial Policy Resolution of 1948. It emphasized on the
sole responsibility of the government in the matter of promoting,
assisting and regulating the development of industries in the national
interest. It envisaged an active and dominant role of public sector.

The next Industrial Policy Resolution was placed before the Parliament
by the Prime Minister on 30t® April, 1956. It suggested that, “There is a
need for adoption of the socialist pattern of economy as the national
objective, along with the need for planned and rapid development. It
required that all industries of basic and strategic importance, or in public
utility services, should be in the public sector.

Other industries which are essential and require investment on a
massive scale (which only the State could provide) have also to be in the
public sector. Thus, the State has to assume direct responsibility for the
future development of industries.”

This Resolution classifies industries into three categories :

. The first category given in Schedule A, consists of industries the
future development of which will be the exclusive responsibility of
the State.

o In the second category given in Schedule B, are industries which

will be progressively State-owned. However, in them, private
enterprise will also be expected to participate.

o The third category comprises all the remaining industries, the
further development of which will be left to the initiative and
enterprise of the private sector.

On the basis of the given text and common understanding, answer the
following questions :

(1) “The Government of India, in the initial years of economic
development, emphasized on a greater role of the public sector in
the industrial development.”

Justify the statement, giving reasons in support of your answer.

(11)  Owutline and discuss the classification of industries into various
categories as per Industrial Policy Resolution, 1956.
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